

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2025

Progress Estimate Number 4	Contract ID Prime Contractor	240920-D04 Christensen Construction Co.			Original Contract Amount Net Change Order Amount Current Contract Amount	\$7,356,465.30 \$0.00 \$7,356,465.30		
Approval Date						By User		
June 16, 2025			Generated and Approve	ed (and should be	considered Draft) at the Project Office Level by	koenib2		
June 16, 2025		sidered Draft) at the Resident Engineer Level by	stokez1					
June 18, 2025			Reviewed and Approved at the Central Office Controllers Office Level by					
Original Con	pletion Date	Current Completion Date	Actual Completic	Actual Completion Date % of Current Contract A				
Novembe	er 1, 2025	November 1, 2025	24.97%					
		Contract Informational Dates			Milestones			
Date Description	Original Completion	Date Current Completion Date		No Milestor	nes Exist for Contract			
Acceptance Date								
Awarded Date	October 2, 2024	October 2, 2024						
Letting Date								
Notice to Proceed Date	November 4, 2024	November 4, 2024						
Work Began Date								

Contract Total Pay For Estimate No. 4			
	This Estimate	Previous	To Date
240920-D04			
Total Posted Items Pay	\$801,571.59	\$1,035,349.63	\$1,836,921.22
Gross Item Adjustments	(\$10,879.42)	\$8,271.21	(\$2,608.21)
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damage	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
		\$1,043,620.84	\$1,834,313.01
Contract Total Pavable This Estimate:	\$790,692,17		

tems Paid This Estimate Period

Ŧ	•	_

Items Paid This	Estimate Per	<u>riod</u>					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0029	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	TONS	\$37.000	385.110	\$14,249.07
	0020	4071005	TACK COAT	GAL	\$2.450	1,350	\$3,307.50
	0041	6181000	MOBILIZATION	LS	\$110,434.870	0.250	\$27,608.72
	0150	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$84.000	2,117.650	\$177,882.60
Project JCD00	29 - Total						\$223,047.89
JCD0050	0200	4071005	TACK COAT	GAL	\$2.450	50	\$122.50
	0420	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$85.000	97.490	\$8,286.65
Project JCD00	50 - Total						\$8,409.15
JCD0149	0460	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$85.000	5,872.400	\$499,154.00
	0470	4071005	TACK COAT	GAL	\$2.450	3,942	\$9,657.90
	0491	6181000	MOBILIZATION	LS	\$42,327.400	0.750	\$31,745.55
	0540	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$12.500	1,131	\$14,137.50
	0550	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$14.000	1,101.400	\$15,419.60
Project JCD01	49 - Total						\$570,114.55
Overall - Total							\$801,571.59

Contract Adjustments This Estimate

INO	Contra	ici Au	usunei	ILO EVIS	St Off Cont	
Lin	e Item	Adiu	stment	s This	Estimate	

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0029	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	385.11000	\$37.00	\$14,249.07
	0010	GRAVEL (A) OR CRUSHED STONE (B)	Material			-385.11000	\$37.00	(\$14,249.07)
	0020	TACK COAT	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user koenib2 overridding Payment Estimate Exception 6 on the current Payment Estimate.	4,443	\$2.45	\$10,885.35
	0020	TACK COAT	Material			-4,443	\$2.45	(\$10,885.35)
	0150	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eprojects: http://eprojects/Docs/CD0029/240920-D04_JCD0029_JCD0050_JCD0149_Estimate_0004_0150_0420_0460_AC_Adjustment.pdf			\$1,990.63
	0150	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun			-135.90000	\$84.00	(\$11,415.60)
JCD0050	0180	SHAPING SLOPES, CLASS	Material		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	7.39000	\$1,420.96	\$10,500.89
	0180	SHAPING SLOPES, CLASS	Material			-7.39000	\$1,420.96	(\$10,500.89)

Revision 5/29/2025 Page 1 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: June 16, 2025

Number JCD0050	Line No.	Item Description	Adjustment					nount		\$7,356,465.3
	0190		Туре	Other Item Adjustment Type	Cc	omments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
C		GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Material		This adjustment offsets the original system- Adjustment (0010) due to user koenib2 ove current Payment Estimate.			227.25000	\$37.00	\$8,408.25
	0190	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Material					-227.25000	\$37.00	(\$8,408.25
C	0200	TACK COAT	Material		This adjustment offsets the original system- Adjustment (0011) due to user koenib2 ove current Payment Estimate.			2,968	\$2.45	\$7,271.60
C	0200	TACK COAT	Material					-2,968	\$2.45	(\$7,271.60
C	0380	MGS GUARDRAIL	Material		This adjustment offsets the original system- Adjustment (0012) due to user koenib2 ove current Payment Estimate.			337.50000	\$32.04	\$10,813.50
C	0380	MGS GUARDRAIL	Material					-337.50000	\$32.04	(\$10,813.50
C	0420	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC Price Index Adjustment based on the At Spreadsheet placed in eprojects: http://eprc D04_JCD0029_JCD0050_JCD0149_Estim	jects/Docs/CD0029/240	920-			\$91.64
C	0420	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun					-40.19000	\$85.00	(\$3,416.15
CD0149 (0440	SHAPING SLOPES, CLASS	Material		This adjustment offsets the original system- Adjustment (0004) due to user koenib2 ove current Payment Estimate.			6	\$1,425.34	\$8,552.04
C	0440	SHAPING SLOPES, CLASS	Material					-6	\$1,425.34	(\$8,552.04
C	0460	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		This adjustment offsets the original system- Adjustment (0005) due to user koenib2 ove current Payment Estimate.			5,872.40000	\$85.00	\$499,154.00
C	0460	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material					-5,872.40000	\$85.00	(\$499,154.00
C	0460	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	AC Price Index Adjustment based on the Al Spreadsheet placed in eprojects: http://epro D04_JCD0029_JCD0050_JCD0149_Estim	jects/Docs/CD0029/240	920-			\$5,520.06
C	0470	TACK COAT	Material		This adjustment offsets the original system- Adjustment (0006) due to user koenib2 ove current Payment Estimate.			3,942	\$2.45	\$9,657.90
C	0470	TACK COAT	Material					-3,942	\$2.45	(\$9,657.90
	0540	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	Overrun					-292	\$12.50	(\$3,650.00
C	0560	MGS GUARDRAIL	Material		This adjustment offsets the original system- Adjustment (0008) due to user koenib2 ove current Payment Estimate.			150	\$33.95	\$5,092.50
C	0560	MGS GUARDRAIL	Material					-150	\$33.95	(\$5,092.50

Revision 5/29/2025 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informat	ion					
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work					
JCD0029	FAS- S403 (038)	Coldmill and resurface	J, F, H, M, RA	CALLAWAY		oute J from I-70 to Route 54, on Route F from Route J to Westminster Ave in Fulton, on Route H from Route J to Route 54, on the M from Audrain County to I-70, and on Route RA from Route J to end of state maint.						
JCD0050	FAS-403 (037)	Resurface	WW, N	BOONE	on Route WW from Ro	oute 63 to Route J in Millersbu	urg and on Route N from Route 163 to	end of state maintenance in Easley				
JCD0149	FAS S403(89)	Coldmill and resurface	Z	CALLAWAY	on Route Z from Fulto	n to I-70						
Totals b	y Job Nu	ımbers										
JCD0029		l Item Pay Item Adjustmo		Item Pay	This Estimate \$223,047.89 (\$9,424.97) \$213,622.92	Previous \$428,194.30 \$3,895.60 \$432,089.90	To Date \$651,242.19 (\$5,529.37) \$645,712.82					
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
JCD0050		l Item Pay Item Adjustmo		Item Pay	This Estimate \$8,409.15 (\$3,324.51) \$5,084.64	Previous \$537,243.46 \$4,375.61 \$541,619.07	To Date \$545,652.61 \$1,051.10 \$546,703.71					
	Disinc Liquid	Incentive Disincentive Liquidated Damages Other Contract Adjustments			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					
JCD0149		Posted Item Pay Gross Item Adjustments Gross Item Pay			This Estimate \$570,114.55 \$1,870.06 \$571,984.61	Previous \$69,911.87 \$0.00 \$69,911.87	To Date \$640,026.42 \$1,870.06 \$641,896.48					
	Disinc	Incentive Disincentive Liquidated Damages			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 5/29/2025 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0149, Item 2153000, Project Item Line Number 0440, Material Set 215300096, Material 3304AGBS - Aggregate Base JSP, Acceptance Action Generic 3304AGBS is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0050, Item 2153000, Project Item Line Number 0180, Material Set 215300096, Material 3304AGBS - Aggregate Base JSP, Acceptance Action Generic 3304AGBS is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0029, Item 3105002, Project Item Line Number 0010, Material Set 310500296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0050, Item 3107002, Project Item Line Number 0190, Material Set 310700296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0149, Item 4020520, Project Item Line Number 0460, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0029, Item 4071005, Project Item Line Number 0020, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0149, Item 4071005, Project Item Line Number 0470, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0050, Item 4071005, Project Item Line Number 0200, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0149, Item 6061060, Project Item Line Number 0560, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0050, Item 6061060, Project Item Line Number 0380, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Working with contractor and materials to resolve.	koenib2	Overridden
Estimate Exception Type: Item Overrun: Contract 240920-D04, Contract Project JCD0029, Project Item Line Number 0150, Contract Line Item Number 0150, Item 4020520, Minor Item.	Working on change order for overrun.	koenib2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240920-D04, Contract Project JCD0149, Project Item Line Number 0540, Contract Line Item Number 0540, Item 6221001, Minor Item.	Working on change order for overrun.	koenib2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240920-D04, Contract Project JCD0050, Project Item Line Number 0420, Contract Line Item Number 0420, Item 4020520, Minor Item.	Working on change order for overrun.	koenib2	Acknowledged

Revision 5/29/2025 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
920- JC	D0029	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	2,520.00	0.00	2,520.00	TONS	385.11	\$37.00	\$14,249.0
		0001	0020	4071005	TACK COAT	51,490.00	0.00	51,490.00	GAL	4,443.00	\$2.45	\$10,885.3
		0001	0030	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$31,000.00	\$15,500.0
		0001	0040	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$130,000.00	\$0.0
		0001	0041	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.50	\$110,434.87	\$55,217.4
		0001	0050	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	11.00	0.00	11.00	LF	0.00	\$35.00	\$0.0
		0001	0060	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	6.00	0.00	6.00	EA	0.00	\$350.00	\$0.0
		0001	0070	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	5.00	0.00	5.00	EA	0.00	\$250.00	\$0.0
		0001	0080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	474,376.00	0.00	474,376.00	LF	0.00	\$0.22	\$0.0
		0001	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	477,354.00	0.00	477,354.00	LF	0.00	\$0.02	\$0.0
		0001	0100	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	1,301.00	0.00	1,301.00	SQYD	0.00	\$10.00	\$0.0
		0001	0110	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,246.00	0.00	4,246.00	SQYD	818.80	\$12.00	\$9,825.6
		0050	0120	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	26,345.00	0.00	26,345.00	TONS	0.00	\$79.50	\$0.0
		0051	0130	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	10,968.00	0.00	10,968.00	TONS	0.00	\$84.00	\$0.0
		0052	0140	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	5,650.00	0.00	5,650.00	TONS	0.00	\$83.00	\$0.0
		0053	0150	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	6,126.00	0.00	6,126.00	TONS	6,261.90	\$84.00	\$525,999.6
		0054	0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	85.00	0.00	85.00	TONS	0.00	\$84.00	\$0.0
		0001	5001	6189901	MISC.Adjusted Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$19,565.13	\$19,565.
Pre	oject JC	D0029 - To	otal Value	Posted to D	Date as of Report Generated Date							\$651,242.
JC	JCD0050	0001	0170	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.31	\$9,914.05	\$3,073.3
		0001	0180	2153000	SHAPING SLOPES, CLASS III	20.40	0.00	20.40	100F	7.39	\$1,420.96	\$10,500.8
		0001	0190	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	855.00	0.00	855.00	TONS	227.25	\$37.00	\$8,408.2
		0001	0200	4071005	TACK COAT	17,803.00	0.00	17,803.00	GAL	2,968.00	\$2.45	\$7,271.0
		0001	0210	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	0.00	\$2,200.00	\$0.0
		0001	0220	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$12,815.00	\$6,407.5
		0001	0230	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$75,000.00	\$0.0
		0001	0231	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.75	\$63,874.73	\$47,906.0
		0001	0240	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	132.00	0.00	132.00	LF	0.00	\$6.00	\$0.
		0001	0250	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	86.00	0.00	86.00	LF	0.00	\$24.00	\$0.0
		0001	0260	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	620.00	0.00	620.00	LF	0.00	\$18.00	\$0.0
		0001	0270	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	22.00	0.00	22.00	EA	0.00	\$260.00	\$0.0
		0001	0280	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$260.00	\$0.0
		0001	0290	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	2.00	0.00	2.00	EA	0.00	\$520.00	\$0.0
		0001	0300	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	20.00	0.00	20.00	EA	0.00	\$190.00	\$0.0
		0001	0310	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	78.00	0.00	78.00	EA	0.00	\$22.50	\$0.0
		0001	0320	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	156,968.00	0.00	156,968.00	LF	0.00	\$0.20	\$0.0
		0001	0330	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	163,309.00	0.00	163,309.00	LF	0.00	\$0.04	\$0.0
		0001	0340	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	261.00	0.00	261.00	LF	0.00	\$2.00	\$0.0
		0001	0350	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	24,177.00	0.00	24,177.00	SQYD	0.00	\$4.00	\$0.0
		0001	0360	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,829.00	0.00	1,829.00	SQYD	915.20	\$6.00	\$5,491.2
		0001	0370	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	495.50	0.00	495.50	STA	0.00	\$16.50	\$0.0
		0010	0380	6061060	MGS GUARDRAIL	1,337.50	0.00	1,337.50	LF	337.50	\$32.04	\$10,813.
	(0010	0390	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$4,244.63	\$16,978.5

Revision 5/29/2025 Page 5 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ntract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
920- 1	JCD0050	0050	0410	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	9,987.50	0.00	9,987.50	TONS	0.00	\$84.00	\$0.00
		0051	0420	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,712.20	0.00	4,712.20	TONS	4,752.39	\$85.00	\$403,953.15
		0001	5002	6189901	MISC.Adjusted Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$11,125.27	\$11,125.27
	Project JC	D0050 - To	otal Value	Posted to D	ate as of Report Generated Date							\$545,652.6
	JCD0149	0001	0430	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.50	\$8,261.71	\$4,130.8
		0001	0440	2153000	SHAPING SLOPES, CLASS III	12.00	0.00	12.00	100F	6.00	\$1,425.34	\$8,552.0
		0001	0450	3105002	GRAVEL (A) OR CRUSHED STONE (B)	540.00	0.00	540.00	TONS	0.00	\$45.00	\$0.0
		0001	0460	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	9,301.90	0.00	9,301.90	TONS	5,872.40	\$85.00	\$499,154.0
		0001	0470	4071005	TACK COAT	11,074.00	0.00	11,074.00	GAL	3,942.00	\$2.45	\$9,657.9
		0001	0480	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$9,665.00	\$4,832.5
		0001	0490	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$50,000.00	\$0.0
		0001	0491	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$42,327.40	\$42,327.4
		0001	0500	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	24.00	0.00	24.00	LF	0.00	\$40.00	\$0.0
		0001	0510	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	1.00	0.00	1.00	EA	0.00	\$400.00	\$0.0
		0001	0520	6206000C	$4\ \mbox{IN}.$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	102,781.00	0.00	102,781.00	LF	0.00	\$0.21	\$0.
		0001	0530	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	102,781.00	0.00	102,781.00	LF	0.00	\$0.03	\$0.0
		0001	0540	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	839.00	0.00	839.00	SQYD	1,131.00	\$12.50	\$14,137.
		0001	0550	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,140.00	0.00	1,140.00	SQYD	1,101.40	\$14.00	\$15,419.6
		0010	0560	6061060	MGS GUARDRAIL	300.00	0.00	300.00	LF	150.00	\$33.95	\$5,092.5
		0010	0570	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	4.00	\$3,831.55	\$15,326.2
		0010	0580	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	4.00	\$3,430.83	\$13,723.3
		0010	0585	6069902	MISC.GUARDRAIL POST IN CONCRETE	44.00	0.00	44.00	EA	0.00	\$300.43	\$0.0
		0030	0590	9029902	MISC.6'x30' LOOP DETECTOR	2.00	0.00	2.00	EA	0.00	\$2,900.00	\$0.0
		0001	5003	6189901	MISC.Adjusted Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$7,672.60	\$7,672.
	Project JCD0149 - Total Value Posted to Date as of Report Generated Date											\$640,026.4
920-D	04 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$1,836,921.2

Revision 5/29/2025 Page 6 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JCD0029

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	6/2/25	6/16/25	1	29.62	TONS	Route M					
			6/3/25	6/16/25	1	169.52	TONS	Route M northern section					
			6/5/25	6/16/25	1	185.97	TONS	Route M entrances.					
0020	4071005	TACK COAT	6/2/25	6/16/25	1	1,089.00	GAL	Route M	16.558		12.558		
			6/3/25	6/16/25	1	261.00	GAL	Route M	12.509		11.403		
0041	6181000	MOBILIZATION	6/13/25	6/16/25	1	0.25	LS	N/A					Per specification section 618.2.2: 0.25 partial payments will be made when 5%, 10%, 25% and 50% of the contract amount has been earned. To date, 13.49% of the contract amount has been earned and 0.25 of the total for the mobilization has been paid. Since the 10% threshold has been reached, an additional 0.25 LS will be paid.
0150	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	6/2/25	6/16/25	1	1,613.05	TONS	Route M	16.558		12.558		
			6/3/25	6/16/25	1	504.64	TONS	Route M	12.509		11.403		
			6/9/25	6/16/25	1	-0.04	TONS	Route M					Rounding for final pay

Project: JCD0050

Line Number	Item Code	Description			Posting Sequence No.		Units	Location	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0200	4071005	TACK COAT	6/2/25	6/16/25	1	50.00	GAL	Asphalt approaches on Route N.				
0420	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	6/2/25	6/16/25	1	97.49	TONS	Asphalt approaches for side roads on Route N.				

Proiect: JCD0149

Line	Item	Description	DWR	DWR	Posting	Quantity	Units	Location	From	Offset/	То	Offset/	Comments
Number	Code	Description	Date	Approval Date	Sequence No.	Posted	Offics	Location	Station/ Log Mile	Distance	Station/ Log Mile	Distance	Comments
0460	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	6/9/25	6/16/25	1	1,965.67	TONS	Route Z (eastbound lane)	9.649 E		5.646 E		
			6/10/25	6/16/25	1	1,683.77	TONS	Route Z (eastbound lane)	5.646 E		1.964 E		
			6/11/25	6/16/25	1	1,273.52	TONS	Route Z (westbound lane) 1.964 E to 0.000 E Route Z (eastbound lane) 0.000 E to 0.661 E	1.964 E		0.661 E		
			6/12/25	6/16/25	1	949.44	TONS	Route Z (eastbound lane)	0.661 E		2.891 E		
0470	4071005	TACK COAT	6/9/25	6/16/25	1	1,372.00	GAL	Route Z (eastbound lane)	9.649 E		5.646 E		
			6/10/25	6/16/25	1	1,133.00	GAL	Route Z (eastbound lane)	5.646 E		1.964 E		
			6/11/25	6/16/25	1	958.00	GAL	Route Z (westbound lane) 1.964 E to 0.000 E Route Z (eastbound lane) 0.000 E to 0.661 E	1.964 E		0.661 E		
			6/12/25	6/16/25	1	479.00	GAL	Route Z (eastbound lane)	0.661 E		2.891 E		
0491	6181000	MOBILIZATION	6/13/25	6/16/25	1	0.75	LS	N/A					Per specification section 618.2.2: 0.25 partial payments will be made when 5%, 10%, 25% and 50% of the contract amount has been earned. To date, 56.67% of the contract amount has been earned. As such, all of the mobilization will be paid out.
0540	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	6/6/25	6/16/25	1	1,131.00	SQYD	Route Z start of project.	0.00		.058		
0550	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6/5/25	6/16/25	1	834.90	SQYD	Route Z entrances and side road approaches.	1.223		9.723		
			6/6/25	6/16/25	1	266.50	SQYD	Route Z entrances and side roads.	.058		.884		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025



Line Item Adjustments by Estimate

Contract ID: 240920-D04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0029	0010	GRAVEL (A) OR CRUSHED	Material	Туро	4	Jun 16, 2025	SYSTEM	(\$14,249.07)	
		STONE (B)			4	Jun 16, 2025	SYSTEM	\$14,249.07	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0010 -	- Total						\$0.00	
	0020	TACK COAT	Material		3	Jun 3, 2025	SYSTEM	(\$7,577.85)	
					3	Jun 3, 2025	SYSTEM	\$7,577.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user schaua1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Jun 16, 2025	SYSTEM	(\$10,885.35)	
					4	Jun 16, 2025	SYSTEM	\$10,885.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user koenib2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	canani ayindi 26anad.
			Material - To					\$0.00	
	0020 -	- Total						\$0.00	
	0150	BITUMINOUS	Other Item	ACAD	3	Jun 3,	schaua1	\$3,895.60	AC Price Adjustment for period 5/15/2025-6/1/2025
		PAVEMENT MIXTURE PG64-22 (SUR	Adjustment			2025			Line 0150 - 4,144.25 tons - 4.7% AC SL25-18 Mix ID
					4	Jun 16, 2025	koenib2	\$1,990.63	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eprojects: http://eprojects/Docs/CD0029/240920- D04_JCD0029_JCD0050_JCD0149_Estimate_0004_0150_0420_0460_AC_Adjustment.pdf
				ACAD - Tota	al			\$5,886.23	
			Other Item	Adjustment -	Total			\$5,886.23	
			Overrun	Overrun	4	Jun 16, 2025	SYSTEM	(\$11,415.60)	
				Overrun - T	otal			(\$11,415.60)	
			Overrun - T	otal				(\$11,415.60)	
JCD0029 -		- Total						(\$5,529.37) (\$5,529.37)	
JCD0050		SHAPING	Matarial		2	May 10	SYSTEM	(\$5,158.08)	
		SLOPES CLASS	Material			May 16, 2025		(\$5,156.06)	
		SLOPES, CLASS	масепа		2	May 16, 2025 May 16, 2025	SYSTEM	\$5,158.08	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			Material			2025 May 16,	SYSTEM		
			waterial		2	2025 May 16, 2025 Jun 3,		\$5,158.08	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the
			waterial		2	2025 May 16, 2025 Jun 3, 2025 Jun 3,	SYSTEM	\$5,158.08 (\$10,500.89)	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the
			waterial		3 3	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16,	SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the
			waterial	- Total	3 3 4	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16,	SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the
		Ш	Material - To		3 3 4	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16,	SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89 (\$10,500.89) \$10,500.89	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the
	0180 -	Total	Material - To		2 3 3 4 4	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89 (\$10,500.89) \$10,500.89 \$0.00 \$0.00	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the
		Total			2 3 3 4 4 4	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89 (\$10,500.89) \$10,500.89 \$0.00 \$0.00 \$0.00 (\$8,408.25)	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
	0180 -	-Total GRAVEL (A) OR CRUSHED	Material - To		2 3 3 4 4 4	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025 Jun 3, 2025 Jun 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89 (\$10,500.89) \$10,500.89 \$0.00 \$0.00 \$8.000 \$8.408.25)	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the
	0180 -	-Total GRAVEL (A) OR CRUSHED STONE (B) OR	Material - To		2 3 3 4 4 4	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025 Jun 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89 (\$10,500.89) \$10,500.89 \$0.00 \$0.00 \$0.00 (\$8,408.25)	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user schaua1 overridding Payment Estimate Exception 3 on the
	0180 -	-Total GRAVEL (A) OR CRUSHED STONE (B) OR	Material - To		2 3 3 4 4 4	2025 May 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 3, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89 (\$10,500.89) \$10,500.89 \$0.00 \$0.00 \$8.000 \$8.408.25)	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user schaua1 overridding Payment Estimate Exception 3 on the
	0180 -	-Total GRAVEL (A) OR CRUSHED STONE (B) OR	Material - To	otal - Total	2 3 3 4 4 4 4	2025 May 16, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025 Jun 3, 2025 Jun 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025 Jun 16, 2025 Jun 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89 (\$10,500.89) \$10,500.89 \$0.00 \$0.00 \$0.00 (\$8,408.25) \$8,408.25 (\$8,408.25) \$8,408.25	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user schaua1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	0180 - 0190	-Total GRAVEL (A) OR CRUSHED STONE (B) OR	Material - To	otal - Total	2 3 3 4 4 4 4	2025 May 16, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025 Jun 3, 2025 Jun 16, 2025 Jun 3, 2025 Jun 3, 2025 Jun 16, 2025 Jun 16, 2025 Jun 16, 2025 Jun 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$5,158.08 (\$10,500.89) \$10,500.89 (\$10,500.89) \$10,500.89 \$0.00 \$0.00 \$0.00 (\$8,408.25) \$8,408.25 (\$8,408.25)	Adjustment (0001) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user koenib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user schaua1 overridding Payment Estimate Exception 3 on the current Payment Estimate.



Line Item Adjustments by Estimate

Contract ID: 240920-D04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
JCD0050	0200	TACK COAT	Material		3	Jun 3, 2025	SYSTEM	(\$7,149.10)			
					3	Jun 3, 2025	SYSTEM	\$7,149.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user schaua1 overridding Payment Estimate Exception 5 on the current Payment Estimate.		
					4	Jun 16, 2025	SYSTEM	(\$7,271.60)			
					4	Jun 16, 2025	SYSTEM	\$7,271.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user koenib2 overridding Payment Estimate Exception 8 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - To					\$0.00			
	0200 -	Total						\$0.00			
	0380		Material		2	May 16, 2025	SYSTEM	(\$5,206.50)			
					2	May 16, 2025	SYSTEM	\$5,206.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user koenib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.		
					3	Jun 3, 2025	SYSTEM	(\$10,813.50)	Salon Committee		
					3	Jun 3, 2025	SYSTEM	\$10,813.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user schaua1 overridding Payment Estimate Exception 7 on the current Payment Estimate.		
					4	Jun 16, 2025	SYSTEM	(\$10,813.50)			
					4	Jun 16, 2025	SYSTEM	\$10,813.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user koenib2 overridding Payment Estimate Exception 10 on tourrent Payment Estimate.		
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0380 -	Total						\$0.00			
	0390	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Material		2	May 16, 2025	SYSTEM	(\$8,489.26)			
					2	May 16, 2025	SYSTEM	\$8,489.26	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user koenib2 overridding Payment Estimate Exception 4 on the current Payment Estimate.		
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0390 -	Total						\$0.00			
	0400	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		2	May 16, 2025	SYSTEM	(\$6,861.66)			
					2 May 16, SY 2025		SYSTEM	\$6,861.66	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user koenib2 overridding Payment Estimate Exception 5 on the current Payment Estimate.		
				- Total	Total						
			Material - To	otal				\$0.00			
	0400 -	Total						\$0.00			
	0420	BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	3	Jun 3, 2025	schaua1	\$4,375.61	AC Price Adjustment for period 5/15/2025-6/1/2025		
		MIXTURE PG64-22 (SUR			4	Jun 16, 2025	koenib2	\$91.64	Line 0420 - 4,654.9 tons - 4.7% AC SL25-18 Mix ID AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eprojects: http://eprojects/Docs/CD0029/240920-		
				ACAD - Tot	al			\$4,467.25	D04_JCD0029_JCD0050_JCD0149_Estimate_0004_0150_0420_0460_AC_Adjustment.pdf		
			Other Item	Adjustment -				\$4,467.25			
			Overrun	Overrun	4	Jun 16, 2025	SYSTEM	(\$3,416.15)			
				Overrun - T				(\$3,416.15)			
			Overrun - T					(\$3,416.15)			
	0420 -	Total						\$1,051.10			
JCD0050 -		***						\$1,051.10			
JCD0149	0440	SHAPING SLOPES, CLASS	Material		3	Jun 3, 2025	SYSTEM	(\$8,552.04)			
		III			3	Jun 3, 2025	SYSTEM	\$8,552.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user schaua1 overridding Payment Estimate Exception 1 on the current Payment Estimate.		

Jun 19, 2025



Line Item Adjustments by Estimate

Contract ID: 240920-D04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0149	0440	SHAPING SLOPES, CLASS III	Material		4	Jun 16, 2025	SYSTEM	(\$8,552.04)	
					4 Jun 16, SYSTER 2025		SYSTEM	\$8,552.04	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user koenib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0440 -	Total						\$0.00	
	0460	BITUMINOUS PAVEMENT	Material		4	Jun 16, 2025	SYSTEM	(\$499,154.00)	
		MIXTURE PG64-22 (SUR			4	Jun 16, 2025	SYSTEM	\$499,154.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user koenib2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	4	Jun 16, 2025	koenib2	\$5,520.06	AC Price Index Adjustment based on the AC Price Index Adjustment spreadsheet. Spreadsheet placed in eprojects: http://eprojects/Docs/CD0029/240920- D04_JCD0029_JCD0050_JCD0149_Estimate_0004_0150_0420_0460_AC_Adjustment.pdf
				ACAD - Tot	al			\$5,520.06	
			Other Item /	Adjustment -	Total			\$5,520.06	
	0460 -	Total						\$5,520.06	
	0470	TACK COAT	Material		4	Jun 16, 2025	SYSTEM	(\$9,657.90)	
					4	Jun 16, 2025	SYSTEM	\$9,657.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user koenib2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0470 -	Total						\$0.00	
	0540	COLDMILLING BIT. PAVT FOR REM OF SURF.	Overrun	Overrun	4	Jun 16, 2025	SYSTEM	(\$3,650.00)	
				Overrun - T	otal			(\$3,650.00)	
			Overrun - To	otal				(\$3,650.00)	
	0540 -	· Total						(\$3,650.00)	
	0560	MGS GUARDRAIL	Material		3	Jun 3, 2025	SYSTEM	(\$5,092.50)	
					3	Jun 3, 2025	SYSTEM	\$5,092.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user schaua1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					2025		SYSTEM	(\$5,092.50)	
							SYSTEM	\$5,092.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user koenib2 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0560 -	Total						\$0.00	
JCD0149 -	Total							\$1,870.06	
Overall - T	otal							(\$2,608.21)	

MoDOT

Contract Adjustments for Contract - 240920-D04

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 11 of 11